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COMMON QUARTERLY EXAMINATION - 2024 -

,; Standard X = RegNo. | |
'MATHEMATICS
Time : 3.00 hrs Part-1 | Marks : 100
I. Choose the correct answer: 14x1=14
.' 1. A={ab,p}, B 2,3}, C= {pqrs}thenn[(AuC)xB]ls
PR 0 T 16
2. f(x)=(x+1)°~ (x - 1) represents a function which is 5
R (ta) linear b) cubic c) recuprocal d@ratic
3. Ifn(A)=p, n(B) q then the total number of relat:one that exist fromAto B is
MG O el .
4. The sum of the exponents of the pnme factors In'the prlme factonsation of 1729 is
‘a) 1 D) 2 eﬁs Say4 -
5. An APconsrsts of31 terms If |ts 16th te;m |sm then the sum of all the terms of this
| a) 16m g@/ i id) '%m
BE o The valuebf(13+23+33-; -;f. , _""’3+.......-.+15_) s, |
i @) 14400 06 U gy 1428000 ¢ d) 14520
' 3y a3 7y—7 A : il 47 {4
e a)/ﬂ By "')j 2ty azye21 7ly? ~2y.+1)
Pas T % pmed)iie R y2
i i - i ‘25655.3 .42'15'-_- i '
" The square root of 25x5y620 is equal to
'165(27.‘ R e 16 y ﬂ{‘@rxzz'
i) e S 18- 101 Y ANI06 4
a) s . . b) 6’?‘224- i c) 3 E'p 5[y

9. The mlutien of (2x = 1)? = 9 is equal to [ s ; |
- a) -1 b) "2 p)/ 12 d) none of these

. Ifin AABC, DE||BC,AB = 3.6 cm, AC = 2.4 cm and AD = 2.1 cm then the length of AE

is

1.4 cm b) 1.8cm - ¢) 12cm - d)1.05cm_
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| 2 } X Maths
The polint of Intersaction of 3x <y » 4 and x +.y'» 6 |y :
a (53) b) (2,4) (3,6) d) (4,4)
When proving that a quadrilateral Is a paralielogram, by using slopes you must find
a) the slopes of 2 sides by the slopes of two pair of opposhe sides
¢) the lengths of all sides
d) both the lengths and slopes of 2 sides
The area of triangle Lo,}nad by the points (~2,0), (0,~2) and (2,0) is

4

a) 0sq.units squnits  c) 2squnits /' d) none of these
If (sin & + cosec a)? + (Co8 « + sec 1) = k + tan?a, + cot?u, then the value of k is equal
t? 9 g ¥ /%IT" :I Al ; . W
Q). 7 G). B ety oS
A \
Part - || AN
Answer any 10 questlons ’(Q No.28 is compulsory) 10%x2=20

IfAX B ={(3,2), (34), (52), (54)}, then find Aand B, {,:5 53: { 2 1?3
Let X ={1, 2,3 4}andY= {2, 468 10)and Rt‘{(1 2), (24) (36) (4 8)}, show that R is
a function and find its domain; co-domain and rangq pa R ey / Codowar -

F th _ - AN c
ind the 8" term of the G.P. 9,3,1, ch_q(@'r %5‘&:‘{2;%‘%“

F(izndtheLCMow;) 10, 5x2~—20 ., l:g sl
oA (P - 2. . Xam LA
" ) 4x%) sz3 (hs Sm.”t. ’2'“?" I
22 20y
lntheﬂgure AD is the b[sec? Xf zA lf BD = 4cm DC=Scm andAB ch find AC.

E:Acmb G
A vertlcal atick of length 6 m casts a shadow 400 ¢m long on the ground and at the
B a tower casts a shadow 28 rn Iong Uslng similarity, find the height of the

| /91-3—'\%% _%_.-—- $,j, B2
Show thatithe polnts P(-1.5,3), Q(6, *2). (-3 4) are collinear, P g
Find the slope of a line joining the given points (~6,1) and (1410) m= =7k T 2o
Show that the atralght lines 2x + 3y ~ 8 = 0 and 4x + By + 18 = 0 are parallel. ., . ,, - .
Given the functlon f X - x? - 6 + 6, evaluate i) f(~1)and i) f(2) W =
Ny L
11 o
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g I i X Maths
.lf13824=23x3b.thenﬁndaandb 9\273' : |

L }1+co 0 i ek
Y Prove that b oL B
T s b = cosechH +coto TR *.-

. Find the sum of1 +34+54 ... + 51 ><_Q_6\ f—“z b—%’ _

b
.jn g 4

Answer any 10 questions. (Q No.42 is compulsory) 'ac'.___. / | 10,‘5_@50'

§ B= {0 1,2,4,5,9) Representf by, D ‘:"-‘j"_‘v'-_J "
)'__ Set of ordered pa[rs i b “) Aféble
m) An arrow diagram o _ w) Agraph 0

fp1 1 xpz X2 xp3X3 xp4x4 ...113400 Where p1, p2, ps, 24 an ), I
BSOendlng order. Find the va!ues of Py Py, pa, p4 and x1, '

tis located at the point (-6, —-4) in xy plane Abottle of mllk |s kept at (5 11) The cat
“ h to consume the milk travelling through shonest poss;ble dlstance Fmd the
quation of the path it needs to take milk. e ." /. g

ol b2 +3b~ za b2 49
O AR 50 14

it fové the following identity, iy A . ‘

in Aicos?A  sin®A-cosSA _ 5 S oI HER G N
sinA+cosA sinA-cosA fomit | T ‘ i
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Let A = The set of all natural numbers less than 8, B = The set of ali‘prime numbers
less than 8, C = The set of even prime numbers. Verify that
Ax(B-C)=(AxB)~(AxC)

Part- IV

IV. Answer all the questions. _ 2x8=16

43

a) Co_‘nstruct a triangle similar to a given triangle PQR with its sides equal to 3 of

; L _ A
the corresponding sides of the triangle PQR (Scale factor 3 >1)

(OR) '
b). Constructa triangle APQR such that QR 5 cm, £P = 30° and the aitltude from P
to QR is of Iength 4.2 cm.

. a) Abusis travélllng ata umform speed of 50 km/hr. Draw the dlstance tlme graph

%

and hence find
) The constant of variation
ii) How far will it travel in'90 minutes? o
iii)  The time required to cover a distance of 300 km from the graph.
| (OR) '
b) Aschool announces that for a certain oompetttlons the cash pnce wzll be dlstnbuted
for all the participants equally as shown below )

.\

No. of Participants (X) ) Vi S A 1 (R T T

Amount for each participant i ! _
nRs.(y) ‘-.30-90 60'1 45 | 36 :

i) Find the constant of vanatlon it

i) Graph the above data and hence, find how much will each partncupant getifthe
number of participants are 12

s

wkh ik
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